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obooboooo3obobobooooobobooooboboboobDooboobOobDoooo
goo

Q=4795130000
P = 510510n + 479513

2P + 1 = 2(510510n + 479513) + 1 = 10210201 4 959026 + 1 = 10210201 + 959027
0000010210200 20 2003,5,7,11,13,17000000 1000000
959027 = 751 x 1277 x 1
0000 10210200000000000000
2P + 1 = 510510m + 448517

gbooboobooobooboboobboobboooboooboon

Q=4795270000
P = 510510n + 479527

2P 4+ 1 =2(510510n + 479527) + 1 = 1021020n + 959054 + 1 = 10210201 + 959055

160



0000010210200 20 2003,5,7,11,13,17000000 10000000

959055 =3 x 5 x 17 x 3761 x 1

oooo
2P + 1 = 255(4004n + 3761)

obobobOoo2s0bogboooooboobobobooooooobobobooooDoooo
good

Q =4795330000
P = 510510n + 479533

2P + 1 = 2(510510n + 479533) + 1 = 10210201 4 959066 + 1 = 10210201 + 959067
0000010210200 20 2003,5,7,11,13,17000000 10000000

959067 = 3 x 3 x 3 x 35521 x 1

oooo
2P + 1 = 3(340340n + 319689)

gooooooOo3soooooooooboooooobOoobDoobDOoobOoUDOoOobDboUODboO
goo

Q=4795370000
P = 510510n + 479537

2P 4+ 1 =2(510510n + 479537) + 1 = 1021020n + 959074 + 1 = 10210201 + 959075
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

959075 =5 x5 x 13 x 13 x 227 x 1

oooo
2P +1 = 65(15708n + 14755)

obooboodoboes000bb0O000ObbOOCObOO0ODbDOO0ODbDUOObDUODUOODbDObODbDOC
googd

Q=479539 0000
P = 5105100 + 479539

2P 4+ 1 =2(510510n + 479539) + 1 = 10210201 + 959078 + 1 = 10210201 + 959079

0000010210200 20 2003,5,7,11,13,17000000 10000000

959079 = 3 x 11 x 29063 x 1

oooo
2P + 1 = 33(30940n + 29063)
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goog

Q=4795430000
P = 510510n + 479543

2P + 1 = 2(510510n + 479543) + 1 = 10210201 4 959086 + 1 = 10210201 + 959087
0000010210200 20 2003,5,7,11,13,17000000 1000000

959087 = 283 x 3389 x 1

o000 10210200 0000000000000

2P +1 = 510510m + 448577

gbooboobooobooboboobboobboooboooboon

Q=479551 0000
P = 510510n + 479551

2P 4+ 1 =2(510510n + 479551) + 1 = 10210201 + 959102 + 1 = 10210201 + 959103

0000010210200 20 2003,5,7,11,13,17000000 10000000

959103 =3 x 3 x 61 x 1747 x 1

good
2P + 1 = 3(340340n + 319701)

gooooooOo3oooboooooUobooUooU0boOUDOOoUbOoUbbOUDbDOODbDboUDboOO
goo

Q=4795610000
P = 510510n + 479561

2P 4+ 1 =2(510510n + 479561) + 1 = 10210201 + 959122 + 1 = 10210201 + 959123

0000010210200 20 2003,5,7,11,13,17000000 10000000

959123 =11 x 17 x 23 x 223 x 1

0ooo
2P + 1 = 187(5460n + 5129)

O00o0O0obOobDO1syooooo0oo0oo0obo0obooooOooOo0oobO0obOobOoDOoDOobDOoo
good

Q=479569 000 O
P = 510510n + 479569

2P 4+ 1 =2(510510n + 479569) + 1 = 10210201 + 959138 + 1 = 10210207 + 959139
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0000010210200 20 2003,5,7,11,13,17000000 10000000

959139 =3 x 3 x 19 x 7L x 79 x1

good
2P + 1 = 3(340340n + 319713)

g00obOooOo0o30b0bobooooobobOooOoOobOobobDOoboDobooobOobDOooDOoo
goo

Q=4795730000
P = 510510n + 479573

2P + 1 = 2(510510n + 479573) 4+ 1 = 10210201 4 959146 + 1 = 10210201 + 959147
0000010210200 20 2003,5,7,11,13,17000000 10000000

959147 =7 x 73 x 1877 x 1

oooo
2P + 1 = 7(145860n + 137021)

goooooogvoUoooOoooOooOOoU0OOoU0bDOU0UDOoUobDOoUbDOUODbDOOobDOUODOO
oono

Q=4795790000
P = 510510n + 479579

2P + 1 = 2(510510n + 479579) 4+ 1 = 10210201 + 959158 + 1 = 10210201 + 959159
0000010210200 20 2003,5,7,11,13,17000000 1000000

959159 = 959159 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 448649

goboobooobooboboobboobboobooobooo

Q=4795810000
P = 510510n + 479581

2P 4+ 1 =2(510510n + 479581) + 1 = 10210201 + 959162 + 1 = 10210201 + 959163

0000010210200 20 2003,5,7,11,13,17000000 10000000

959163 = 3 x 59 x 5419 x 1

oooo
2P + 1 = 3(340340n + 319721)

163



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=4795930000
P = 510510n + 479593

2P + 1 =2(510510n + 479593) + 1 = 10210201 + 959186 + 1 = 10210201 + 959187

0000010210200 20 2003,5,7,11,13,17000000 10000000

959187 = 3 x 319729 x 1

good
2P + 1 = 3(340340n + 319729)

o00ob0ooO0oo030b00b0obooo0ooboobDooOo0obobobODobDobOoobOobDOoDOon
goo

Q=4795970000
P = 510510n + 479597

2P 4+ 1 =2(510510n + 479597) + 1 = 1021020n + 959194 + 1 = 10210201 + 959195

0000010210200 20 2003,5,7,11,13,17000000 10000000

959195 =5 x 41 x 4679 x 1

oooo
2P + 1 = 5(204204n + 191839)

goooooo0ds0U0bO00bOO0ObOO0OO0ODOU0UDOODOUODOUODOUODOUODOO
ooo

Q=479599 0000
P = 510510n + 479599

2P + 1 = 2(510510n + 479599) + 1 = 10210201 + 959198 + 1 = 10210201 + 959199
0000010210200 20 2003,5,7,11,13,17000000 10000000

959199 = 3 x 319733 x 1

good
2P + 1 = 3(340340n + 319733)

g0obOobooo30bobooooooboobooDooboboboDobDobooobUobOobDoo
goo

Q=479603 0000
P = 510510n + 479603

164



2P + 1 =2(510510n + 479603) + 1 = 1021020n + 959206 + 1 = 1021020n + 959207

0000010210200 20 2003,5,7,11,13,17000000 1000000

959207 = 959207 x 1

o000 10210200000000000000O0

2P 4+ 1 = 510510m + 448697

gboboobogobogoboboobboobooobooooboon

Q=4796170000
P = 5105100 + 479617

2P + 1 = 2(510510n + 479617) 4+ 1 = 10210201 4 959234 + 1 = 10210201 + 959235
0000010210200 20 2003,5,7,11,13,17000000 10000000

959235 =3 x 5 x 63949 x 1

oooo
2P + 1 = 15(68068n + 63949)

goooooboobhooboooooboboooooooooDoobDOooDOobDOoboooboOoboo
good

Q=4796230000
P = 510510n + 479623

2P + 1 = 2(510510n + 479623) + 1 = 10210201 4 959246 + 1 = 10210201 + 959247
0000010210200 20 2003,5,7,11,13,17000000 10000000

959247 =3 x 3 x 53 x 2011 x 1

oooo
2P + 1 = 3(340340n + 319749)

oboobobooo3obobooooooboboooobobUobooboDoboboobOobDoooo
goo

Q=479627 0000
P = 5105100 + 479627

2P 4+ 1 =2(510510n + 479627) + 1 = 1021020n + 959254 + 1 = 10210201 + 959255

0000010210200 20 2003,5,7,11,13,17000000 10000000

959255 =5 x 11 x 107 x 163 x 1
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2P + 1 = 55(18564n + 17441)

oboooboooosboboobobooooboboooboobooboobobooooboLobOoo
good

Q=4796290000
P = 5105101 + 479629

2P 4+ 1 = 2(510510n + 479629) + 1 = 10210201 4 959258 + 1 = 1021020n + 959259
0000010210200 20 2003,5,7,11,13,17000000 10000000

959259 =3 x 7 x 17 x 2687 x 1

ooono
2P + 1 = 357(2860n + 2687)

oooooooossroboooooooooboboooooooobooboooooooooobobbooo
oooo

Q=4796390000
P = 5105100 + 479639

2P + 1 = 2(510510n + 479639) 4 1 = 10210201 + 959278 + 1 = 10210201 + 959279
0000010210200 20 2003,5,7,11,13,17000000 1000000
959279 = 959279 x 1
0000 10210200000000000000
2P + 1 = 510510m + 448769

gboboobogobogbooboobboobbooobuoooboon

Q=479641 0000
P = 510510n + 479641

2P 4+ 1 =2(510510n + 479641) + 1 = 10210201 + 959282 + 1 = 10210201 + 959283

0000010210200 20 2003,5,7,11,13,17000000 10000000

959283 =3 x 3 x 3 x3I x13x911 x 1

oooo
2P + 1 = 39(26180n + 24597)

gooooooOo3oooooooboboooooboooooDobDooDUobDOoboboboOooboo
good
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Q=479651 0000
P = 510510n + 479651

2P + 1 = 2(510510n + 479651) 4+ 1 = 10210201 4 959302 + 1 = 10210201 + 959303
0000010210200 20 2003,5,7,11,13,17000000 1000000

959303 = 151 x 6353 x 1

o000 102102000000000000000

2P 4+ 1 =510510m + 448793

gbobooobogobooboboobboobooobuoooboon

Q=479653 0000
P = 5105100 + 479653

2P + 1 =2(510510n 4+ 479653) + 1 = 1021020n + 959306 + 1 = 1021020n + 959307

0000010210200 20 2003,5,7,11,13,17000000 10000000

959307 = 3 x 23 x 13903 x 1

oooo
2P + 1 = 3(340340n + 319769)

gooooooboo3sooooooooobooooOobooboobOoobbOODbDoOobboUODboO
goo

Q=4796570000
P = 5105100 + 479657

2P + 1 =2(510510n + 479657) + 1 = 1021020n + 959314 + 1 = 10210201 + 959315

0000010210200 20 2003,5,7,11,13,17000000 10000000

959315 =5 x 7 x 27409 x 1

oooo
2P + 1 = 35(29172n + 27409)

oboooooosboooobooooobobooobooboobooboboooobOoobOoo
good

Q=479659 0000
P = 510510 + 479659

2P 4+ 1 =2(510510n + 479659) + 1 = 10210201 + 959318 + 1 = 10210201 + 959319
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0000010210200 20 2003,5,7,11,13,17000000 10000000

959319 = 3 x 3 x 106591 x 1

good
2P + 1 = 3(340340n + 319773)

g00obOooOo0o30b0bobooooobobOooOoOobOobobDOoboDobooobOobDOooDOoo
goo

Q=479663 0000
P = 510510n + 479663

2P + 1 = 2(510510n + 479663) 4+ 1 = 10210201 4 959326 + 1 = 10210201 + 959327
0000010210200 20 2003,5,7,11,13,17000000 10000000

959327 =17 x 56431 x 1

oooo
2P + 1 = 17(60060n + 56431)

goooooboOowvooooOooUobOobOOoOooUOoOUOooOOoDOobDOoOoDOobDOobOoboboOooog
googo

Q=479669 0000
P = 510510n + 479669

2P + 1 = 2(510510n + 479669) + 1 = 10210201 + 959338 + 1 = 10210201 + 959339
0000010210200 20 2003,5,7,11,13,17000000 1000000

959339 = 959339 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 448829

goboobooobooboboobboobboobooobooo

Q=4796710000
P = 510510n + 479671

2P 4+ 1 =2(510510n + 479671) + 1 = 10210201 + 959342 + 1 = 10210201 + 959343

0000010210200 20 2003,5,7,11,13,17000000 10000000

0959343 =3 x 7 x 11 x 4153 x 1

0ooo
2P + 1 = 231(4420n + 4153)

168



OO000o0o0ooOo23l1000o000o0o00oo00obooooogoo0bo0o0oooooDoUoDoO
goog

Q=4796810000
P = 510510n + 479681

2P + 1 = 2(510510n + 479681) 4 1 = 10210201 4 959362 + 1 = 10210201 + 959363
0000010210200 20 2003,5,7,11,13,17000000 1000000

959363 = 959363 x 1

o000 10210200 0000000000000

2P +1 = 510510m + 448853

gbooboobooobooboboobboobboooboooboon

Q=479683000 0
P = 510510n + 479683

2P + 1 =2(510510n + 479683) + 1 = 10210201 + 959366 + 1 = 10210201 + 959367

0000010210200 20 2003,5,7,11,13,17000000 10000000

959367 = 3 x 19 x 16831 x 1

good
2P + 1 = 3(340340n + 319789)

gooooooOo3oooboooooUobooUooU0boOUDOOoUbOoUbbOUDbDOODbDboUDboOO
goo

Q=479693 0000
P = 510510n + 479693

2P + 1 =2(510510n + 479693) + 1 = 10210201 + 959386 + 1 = 10210201 + 959387

0000010210200 20 2003,5,7,11,13,17000000 10000000

959387 = 11 x 13 x 6709 x 1

oooo
2P + 1 = 143(7140n + 6709)

00000000143 000000000000D000D0DO00O0DDO0DODO00OD0O0ODOoODOOd
good

Q=479701 0000
P = 510510n + 479701

2P 4+ 1 =2(510510n + 479701) + 1 = 10210201 + 959402 + 1 = 10210201 + 959403
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0000010210200 20 2003,5,7,11,13,17000000 10000000

959403 = 3 x 193 x 1657 x 1

good
2P + 1 = 3(340340n + 319801)

g00obOooOo0o30b0bobooooobobOooOoOobOobobDOoboDobooobOobDOooDOoo
goo

Q=4797070000
P = 510510n + 479707

2P + 1 = 2(510510n + 479707) 4+ 1 = 10210201 4 959414 + 1 = 10210201 + 959415
0000010210200 20 2003,5,7,11,13,17000000 10000000

959415 =3 x 5 x 167 x 383 x 1

oooo
2P + 1 = 15(68068n + 63961)

goodoooOolboobooOooobOoboobooOooUooOoDOobOoOobLDOobDOoboooboooo
googo

Q=4797110000
P = 510510n + 479711

2P + 1 = 2(510510n + 479711) 4+ 1 = 10210201 + 959422 + 1 = 10210201 + 959423
0000010210200 20 2003,5,7,11,13,17000000 1000000

959423 =71 x 13513 x 1
Ooooo 10210200 000000000000
2P +1 = 510510m + 448913

gooboobooobooboboobboobboobuooobooo

Q=4797190000
P = 510510n + 479719

2P + 1 =2(510510n + 479719) + 1 = 10210201 + 959438 + 1 = 10210201 + 959439

0000010210200 20 2003,5,7,11,13,17000000 10000000

959439 =3 x 13 x T3 x 337 x 1

oooo
2P + 1 = 39(26180n + 24601)
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goog

Q=4797290000
P = 510510n + 479729

2P + 1 = 2(510510n + 479729) 4 1 = 10210201 4 959458 + 1 = 10210201 4 959459
0000010210200 20 2003,5,7,11,13,17000000 1000000

959459 = 43 x b3 x 421 x 1

o000 102102000000000000000

2P +1 = 510510m + 448949

gbooboobooobooboboobboobboooboooboon

Q=4797370000
P = 510510n + 479737

2P 4+ 1 =2(510510n + 479737) + 1 = 10210201 + 959474 + 1 = 1021020n + 959475

0000010210200 20 2003,5,7,11,13,17000000 10000000

959475 =3 x5 x5 x 11 x 1163 x 1

ogooo
2P + 1 = 165(6188n + 5815)

gooodoOoboOoles0dOboboOd0OO00ODOO0O0ODOUODOUDOODbDOOOOOUODOUODOO
goog

Q=4797410000
P = 510510n + 479741

2P 4+ 1 =2(510510n + 479741) + 1 = 10210201 + 959482 + 1 = 10210201 + 959483

0000010210200 20 2003,5,7,11,13,17000000 10000000

959483 =7 x 113 x 1213 x 1

oooo
2P + 1 = 7(145860n + 137069)

o00ob0o0O0o0Ovy0O00bO00O0O0O000O0ODOO0DOO0OO0OO0ODOODOODOOO0OODODODOn
goo

Q=479747 0000
P = 510510n + 479747

2P 4+ 1 =2(510510n + 479747) + 1 = 1021020n + 959494 + 1 = 10210201 + 959495
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0000010210200 20 2003,5,7,11,13,17000000 10000000

959495 = 5 x 191899 x 1

oooo
2P + 1 = 5(204204n + 191899)

o0dobOooOOo0os000b0b00O0O00ObO0ODbDObOOObOO0ObDObDObDObOOODbDObDODbDOn
goo

Q=479749 0000
P = 510510n + 479749

2P + 1 = 2(510510n + 479749) + 1 = 10210201 4 959498 + 1 = 10210201 4 959499
0000010210200 20 2003,5,7,11,13,17000000 10000000

959499 = 3 x 3 x 3 x 35537 x 1

oooo
2P + 1 = 3(340340n + 319833)

gooooooOo3soUobooooooobooU0oOoU0bOoUbDOoUobDOoUobDbOUDbDOoUobDbOUODoOO
oono

Q=4797530000
P = 510510n + 479753

2P + 1 = 2(510510n + 479753) 4+ 1 = 10210201 4+ 959506 + 1 = 10210201 + 959507
0000010210200 20 2003,5,7,11,13,17000000 1000000

959507 = 67 x 14321 x 1
Ooooo 10210200 000000000000
2P + 1 = 510510m + 448997

gooboobooobooboboobboobboobuooobooo

Q=4797610000
P = 510510n + 479761

2P + 1 =2(510510n + 479761) + 1 = 10210201 + 959522 + 1 = 10210201 + 959523

0000010210200 20 2003,5,7,11,13,17000000 10000000

959523 = 3 x 29 x 41 x 269 x 1

oooo
2P + 1 = 3(340340n + 319841)
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Q=4797670000
P = 510510n + 479767

2P 4+ 1 =2(510510n + 479767) + 1 = 10210201 + 959534 + 1 = 10210201 + 959535

0000010210200 20 2003,5,7,11,13,17000000 10000000

959535 =3 x 3 x5 x 21323 x 1

oooo
2P + 1 = 15(68068n + 63969)

o00o0o0O0oooiboooboooooooooobooobOo0obooboboooobOooDbOoo
good

Q=479771 0000
P = 510510n + 479771

2P + 1 =2(510510n + 479771) + 1 = 10210201 + 959542 + 1 = 10210201 + 959543

0000010210200 20 2003,5,7,11,13,17000000 10000000

959543 = 13 x 31 x 2381 x 1

oooo
2P + 1 = 13(78540n + 73811)

goodo0obo0oyoobooOooobOobooOooUOooOUoOoOoDOobDOoOoDOobDOobOoOooboOooo
good

Q=4797770000
P = 510510n + 479777

2P + 1 = 2(510510n + 479777) + 1 = 10210201 4 959554 + 1 = 10210201 + 959555
0000010210200 20 2003,5,7,11,13,17000000 10000000

959555 =5 x 191911 x 1

oooo
2P + 1 = 5(204204n + 191911)

g0oboboOoos0b0b0obO0ob0U0o0b0bOobOUoO0bO0OobOobOOobDOobO0oobUobDOobDOoo
goo

Q=479779 0000
P = 5105100 + 479779
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2P + 1 =2(510510n + 479779) + 1 = 1021020n + 959558 + 1 = 1021020n + 959559

0000010210200 20 2003,5,7,11,13,17000000 10000000

959559 = 3 x 317 x 1009 x 1

oooo
2P + 1 = 3(340340n + 319853)
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goo

Q=479783 0000
P = 510510n + 479783

2P + 1 = 2(510510n + 479783) + 1 = 10210201 + 959566 + 1 = 10210201 + 959567
0000010210200 20 2003,5,7,11,13,17000000 10000000

959567 =7 x 7 x 19583 x 1

oooo
2P + 1 = 7(145860n + 137081)
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Q=479789 0000
P = 510510n + 479789

2P + 1 = 2(510510n + 479789) + 1 = 10210201 + 959578 + 1 = 10210201 4 959579
0000010210200 20 2003,5,7,11,13,17000000 1000000
959579 = 959579 x 1
0000 10210200000000000000
2P + 1 = 510510m + 449069

gbobogobooobooboboobboobbooobuooooboon

Q=4797970000
P = 5105100 + 479797

2P 4+ 1 =2(510510n + 479797) + 1 = 1021020n + 959594 + 1 = 10210201 + 959595

0000010210200 20 2003,5,7,11,13,17000000 10000000

959595 =3 x5 xT7Tx13x19x37x1
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2P + 1 = 1365(748n + 703)
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googo

Q=4798030000
P = 510510n + 479803

2P 4+ 1 = 2(510510n + 479803) + 1 = 10210201 + 959606 + 1 = 10210201 + 959607
0000010210200 20 2003,5,7,11,13,17000000 10000000

959607 =3 x3x3x3x3x11x359x1

good
2P + 1 = 33(30940n + 29079)

oooooooos3boooooooooooooobooooboooooOoboOooooboOoooDoobOn
oooo

Q=479807 0000
P = 510510n + 479807

2P + 1 = 2(510510n + 479807) + 1 = 10210201 4 959614 + 1 = 10210201 + 959615
0000010210200 20 2003,5,7,11,13,17000000 10000000

959615 = 5 x 281 x 683 x 1

oooo
2P + 1 = 5(204204n + 191923)

gbooboooosObobobobooobooboboboobobOobUobDoboDoboboobOobDOobDOoo
goo

Q=4798130000
P = 510510n + 479813

2P + 1 =2(510510n + 479813) + 1 = 1021020n + 959626 + 1 = 10210201 + 959627

oo0o0o00o10210200 20 2003,5,7,11,13,17000000 1000000

959627 = 959627 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 449117

ooboobooobooboboobboobbooobooobooo
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Q=4798190000
P = 510510n + 479819

2P + 1 = 2(510510n + 479819) 4 1 = 10210201 4 959638 + 1 = 10210201 + 959639
0000010210200 20 2003,5,7,11,13,17000000 1000000

959639 = 29 x 33091 x 1

o000 10210200 0000000000000

2P 4+ 1 =510510m + 449129

gbooboobogobooboboobboobooobuooooboon

Q=479821 0000
P = 510510n + 479821

2P 4+ 1 =2(510510n + 479821) + 1 = 10210201 + 959642 + 1 = 10210201 + 959643
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